


Chapter 1 Install the device

1. Cutting a slot in proper position, embedded pipe. The power cable will pass through the pipe
when install the device.

. Put the mounting drawings on the floor.

Using a hammer drill to perforate M12 screw holes according to the hole position shown in the
drawing.

4. Installing the screw according to the screw holes.
5. Put the frames on the screw holes and fix up with M12 screw.
M12x120 Screw q;/
po 2500 R Floor /L\‘ﬂ __1] Floor
| e ﬂ% 142.00 \:(k.,,f ‘\,;Sw:f }_\.r:zg‘
mzm\\i‘ n —@ i wj (’_j(;%\_:_ pS _,C( ; _,'C (i
Bt A A
jsigaig.ayy.«l

9200 [:@

7. Put the whole rotating part in the middle of the frame and chassis and then fix up with screw
and connection block.

Connection block

M8%30 screw-— " ==

.

~

,J
e \J
M10%50 screw




Chapter 2 Wiring diagram

1. Open the top cover to connect the corresponding interface. The power line and reader lines
are hidden in different column. The wiring diagram is shown below. The reader lines are
connected to READER2 and READER4.

(

&

[
a
@©
=

Full Height Turnstile Internal Wiring \

7—|7 24V Power
_O 2y 12V Power B
[ — -
P
Lgé READER4 POW ER % E
d £ FUSE ©
S Lo
H Lockz | 8 24V+ Left @ [
3 2 F %o GND Solenoid e—
H Lol = @ |
3 oL CoM _ Right «—
B LOCK] | & Position ZERO solenoid
o e Sensor 12v+ olenoi pra—
8l =@
o || READER2 = @ | oo
: 8
2 3 @ | op-L
o S @ | 12v+
3 Lo |
g . e 0P-R [B]w
18 | E B [ewn[o) 12v+
[Q] rem-mmmee ey A @ Left Gpen Enter Esc . ®
o | ! [©]oown Indicator
% o : ® | M [O]remopn ) L
. 1 v | fom| oo GND
r LT O
El Control Panel |
o 1
1o :
[ol ]

N | Y,

2. After the installation of the whole device, connect power to test. If the direction is contrary.
Exchange the interface between READER2 and READER4.
3. Ifthere s a slight tilt of the central column, slightly adjust the position of the movement.




	Chapter 1 Install the device
	Chapter 2 Wiring diagram

